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Level 1

Jesse, Beau, Shane, and Kim are waiting
in a line. Can you work out their order
from these clues?

Beau is not first.
Shane is between Jesse and Beau.

Kim is next to Jesse.
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Level 2

Jake made a mistake and multiplied the

money in his piggy bank by 10 instead
of 2. His answer was $15.50. What
should his answer have been?
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Level 3

Zac trained for the long jump event.
After a few weeks he could jump half as
far again as his original jump. His last
jump was 3.45 metres. How long was his
original jump?
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Level 4

We want to make some gift cards 10 cm
by 7 cm. What is the maximum we can
make from a sheet of card measuring

1 mby 1.5 m?






